R&7FAL EHE BEEA 03

ROFERET L. (S22, A3, BFk4as®, C#14y)

(1) 5x15-3x15 (2) 17x8-9x38
(3) 12x3+12x7 (4)  40x3—-28x3
(5)  13x25—11x25 (6) 11x4+19x4
(1) 4x17—-4x%5 (8 13x12—-9x12
(9) 32x8-12x8 (10) 4x16+4x9
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(1)

(3)
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(9)

ROFERET L. (S22, A3, BFk4as#, C#14y)

Ox15—-2x15

12x6+12x4

15 x 25 —-11 x 25

4x17—-4x2

32x8—-17x8

(2)

(4)

(6)

(8)

(10)

18 x 8 -9 %8

90 x 3 —28 x 3

21 x44+19 x4

12x 12 -9 x 12

4x174+4x8
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RHTFAL EHE

faaaEl 03

ROFEEZE L. (ST, A3, Bi4as®, C#14y)

(1) 5x15-3x15
= (5—3) x15=30
(3) 12x3+12x7
=12 x (3+7) =120
(5) 13 x25—11x25
= (13—-11) x 25 = 50
(7)  4x17—4x5
=4 x (17— 5) = 48
(9) 32x8—-12x8

= (32— 12) x 8 = 160
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(2)

(4)

(6)

(8)

(10)

17Tx8—=9x%x8

= (17— 9) x 8 = 64

40 x 3 —28 x 3

= (40 — 28) x 3 = 36

11 x4+19 x4

— (11+19) x 4 = 120

13 x12 -9 x 12

= (13—9) x 12 = 48

4x164+4x%x9

— 4 x (16 +9) = 100
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ROFERET L. (S22, A3, BFk4as#, C#14y)

(1) 5x15—-2x15 (2) 18x8—-9x8
= (5—2)x15=45 = (18 —9) x 8 =172
(3) 12x6+12 x4 (4) 50x3—-28x3
=12 x (6 +4) =120 = (50 — 28) X 3 =66
(5)  15x25—11x25 (6) 21x4+19x4
= (15— 11) x 25 = 100 = (21 +19) x 4 =160
(7))  4x17—4x2 (8) 12x12—-9x 12
=4x (17—2) =60 = (12-9) x 12 =36
(9) 32x8—-17x8 (10) 4x174+4x8
= (32— 17) x 8 = 120 =4 x (174 8) =100

© Bef - BEE L &7 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

